

Dinov's UCLA EX Stat XL 10 Final Exam Review - Solutions

Probabilities and Proportions

1. (a)

	Females	Males	Total
Stat10	0.3003	0.2949	0.5952
Stat11	0.1924	0.2123	0.4048
Total	0.4928	0.5072	1

(b) (i) $\frac{593}{2011} = 0.2949$ (ii) $\frac{991}{2011} = 0.4928$ (iii) $\frac{387}{2011} = 0.1924$

(c) $\frac{427}{814} = 0.5246$

(d) $\frac{427}{1020} = 0.4186$

2. (a)

	40 or under	Over 40	Total
Wearing a seat belt	0.484	0.369	0.853
Not wearing seat belt	0.066	0.081	0.147
Total	0.55	0.45	1

(b) 0.147

(c) $\frac{0.081}{0.147} = 0.551$

(d) 0.55

3. (a)

	Under 40	40 or over	Total
Mild cases	16	20	36
Serious cases	15	35	50
Total	31	55	86

(b) (i) $\frac{16}{86} = 0.1860$ (ii) $\frac{20+35+15}{86} = 0.8140$ (iii) $\frac{35}{86} = 0.4070$

(c) $\frac{15}{50} = 0.3$

(d) $\frac{20}{55} = 0.3636$

4. (a)

	High-risk	Low-risk	Total
In default	40% of 0.05 = 0.02	0.03	0.05
Not in default	0.2185	77% of 0.95 = 0.7315	0.95
Total	0.2385	0.7615	1

(b) 23.85%

(c) $\frac{0.02}{0.2385} = 0.0839$

5. (a)

	Female	Male	Total
Business degree	27% of 0.175 = 0.04725	0.12775	0.175
Other degree	0.42281	48.75% of 0.825 = 0.40219	0.825
Total	0.47006	0.52994	1

(b) 0.52994

(c) 0.12775

(d) $\frac{0.04725}{0.47006} = 0.1005$

6. (2)

Dinov's Stat XL 10, Final Exam Review- Solutions

Confidence Intervals

Section A: Confidence intervals for a mean, proportion and difference between means

1. (a) $\theta = \mu$, the population mean grade(mark) for the exam.
- (b) $\hat{\theta} = \bar{x} = 38.20$, the mean mark of the sample of 30 marks.
- (c) $se(\hat{\theta}) = se(\bar{x}) = \frac{s}{\sqrt{n}} = \frac{10.85}{\sqrt{30}} = 1.9809$
- (d) $df = 30 - 1 = 29$
- (e) t -multiplier = 2.045
- (f) 95% c.i. is: $\bar{x} \pm t \times se(\bar{x}) = 38.20 \pm 2.045 \times 1.9809 = 38.20 \pm 4.0509 = (34.15, 42.25)$
- (g) There are many ways of interpreting a confidence interval. Three different ways follow.
- (1) With 95% confidence, we estimate that the population mean mark is somewhere between 34.15 and 42.25 marks.
 - (2) We estimate that the population mean mark is somewhere between 34.15 and 42.25 marks. A statement such as this is correct, on average, 19 times out of every 20 times we take such a sample.
 - (3) We estimate the population mean mark to be 38.20 with a margin or error of 4.05. A statement such as this is correct, on average, 19 times out of every 20 times such a sample is taken.
- (h) We don't know. The population mean mark is not known so we don't know whether this particular 95% confidence interval contains the population mean. However, in the long run, the population mean will be contained in 95% of the 95% confidence intervals calculated from such samples.
2. (a) $\theta = p$, the proportion of female Spanish prisoners in 1995 who had tuberculosis.
- (b) $\hat{\theta} = \hat{p} = \frac{36}{90} = 0.4$, the proportion in the sample of female Spanish prisoners who had tuberculosis.
- (c) $se(\hat{\theta}) = se(\hat{p}) = \sqrt{\frac{\hat{p}(1-\hat{p})}{n}} = \sqrt{\frac{0.4 \times 0.6}{90}} = 0.051640$
- (d) z -multiplier = 1.96
- (e) 95% c.i. is: $\hat{p} \pm t \times se(\hat{p}) = 0.4 \pm 1.96 \times 0.051640 = 0.4 \pm 0.1012 = (0.299, 0.501)$
- (f) We estimate that the proportion of female Spanish prisoners in 1995 with tuberculosis is somewhere between 29.9% and 50.1%. A statement such as this is correct, on average, 19 times out of every 20 times we take such a sample.
- (g) We don't know. The population proportion is not known so we don't know whether this particular 95% confidence interval contains the population proportion. However, in the long run, the population proportion will be contained in 95% of the 95% confidence intervals calculated from such samples.

3. (a) We estimate that the mean thiol level for people suffering from rheumatoid arthritis is somewhere between 1.08 and 2.01 greater than the mean thiol level for non-sufferers. A statement such as this is correct, on average, 19 times out of every 20 times we take such a sample.
- (b) We don't know. The true difference in the thiol levels between the two populations is not known so we don't know whether this particular 95% confidence interval contains the true difference. However, in the long run, the true difference will be contained in 19 out of each batch of 20 confidence intervals calculated from such samples.
4. (4)
5. (2)
6. (3)
7. (3)
8. (5)
9. (4)

Section B: Confidence interval for a difference in proportions

1. (a) Situation (b): *Single sample, several response categories*
 (b) Situation (a): *Two independent samples*
 (c) Situation (c): *Single sample, two or more Yes/No items*
 (d) Situation (a): *Two independent samples*
2. (a) Situation (b): *Single sample, several response categories*
 (b) Situation (a): *Two independent samples*
 (c) Situation (c): *Single sample, two or more Yes/No items*
 (d) Situation (a): *Two independent samples*
 (e) Situation (c): *Single sample, two or more Yes/No items*
 (f) Situation (b): *Single sample, several response categories*
3. (2) Note: This was Situation (c): *Single sample, two or more Yes/No items* .

4. (a) Let p_1 represent the proportion of white prisoners who were infected with TB and p_2 represent the proportion of Gypsy prisoners who were infected with TB.
 $\theta = p_1 - p_2$, the true difference in the above proportions.
- (b) $\hat{\theta} = \hat{p}_1 - \hat{p}_2 = \frac{496}{886} - \frac{74}{152} = 0.5598 - 0.4868 = 0.0730$, the estimated difference in the above proportions.
- (c) $se(\hat{p}_1 - \hat{p}_2) = \sqrt{\frac{0.5598(1-0.5598)}{886} + \frac{0.4868(1-0.4868)}{152}} = 0.043837$
- (d) $z = 1.96$
- (e) 95% c.i. is: $(\hat{p}_1 - \hat{p}_2) \pm z \times se(\hat{p}_1 - \hat{p}_2) = 0.0730 \pm 1.96 \times 0.043837 = 0.0730 \pm 0.08592 = (-0.0129, 0.1589) = (-1.3\%, 15.9\%)$
- (f) With 95% confidence, we estimate the proportion of white prisoners who were infected with TB to be somewhere between 1.3% lower and 15.9% higher than the proportion of Gypsy prisoners who were infected with TB.
5. (a) $\theta = p_W - p_G$, the difference in the proportion of prisoners infected with TB who were white and the proportion of prisoners infected with TB who were Gypsy.
- (b) $\hat{\theta} = \hat{p}_W - \hat{p}_G = \frac{496}{592} - \frac{74}{592} = 0.8378 - 0.1250 = 0.7128$, the estimated difference in the above proportions.
- (c) $se(\hat{p}_W - \hat{p}_G) = \sqrt{\frac{0.8378 + 0.1250 - (0.8378 - 0.1250)^2}{592}} = 0.027715$
- (d) $z = 1.96$
- (e) 95% c.i. is: $(\hat{p}_W - \hat{p}_G) \pm z \times se(\hat{p}_W - \hat{p}_G) = 0.7128 \pm 1.96 \times 0.027715 = 0.7128 \pm 0.0543 = (0.6585, 0.7671) = (66\%, 77\%)$
- (f) We estimate that proportion of prisoners infected with TB who were white is somewhere between 66% and 77% greater than the proportion of prisoners infected with TB who were Gypsy. A statement such as this is correct, on average, 19 times out of every 20 times such a sample is taken.
6. (a) Situation (a). There are two independent samples – a sample of intravenous drug user prisoners and a sample of non-intravenous drug user prisoners.
- (b) With 95% confidence, we estimate that proportion of intravenous drug user prisoners who were infected with TB is somewhere between 0.6% less than and 11.5% greater than the proportion of non-intravenous drug user prisoners who were infected with TB.
- (c) Yes. Since zero is contained within the 95% confidence interval, zero is a plausible value for true difference between the population proportions.
7. (3)
8. (4)
9. (1)
10. (5)

Dinov' s Stat XL 10, Final Exam Review - Solutions

Hypothesis Testing

Section A:

1. The null hypothesis is the hypothesis tested by the statistical test. The alternative hypothesis specifies the type of departure from the null hypothesis we expect to detect.

2. (a) $H_0 : \neq \theta_0$ (b) $H_0 : > \theta_0$ (c) $H_0 : < \theta_0$

3. A one-tailed test is used when the investigators have good grounds for believing the true value of θ was on one particular side of θ_0 before the study began. Otherwise, or if in doubt, a two-tailed test is used. Good grounds mean that there is prior information or there is a theory to tell the investigators which way the study will go.

4. (a) $\frac{\text{estimate} - \text{hypothesised value}}{\text{std error}}$ (b) $\frac{\hat{\theta} - \theta_0}{\text{se}(\hat{\theta})}$

5. The *P-value* is the **probability** that, if the **null hypothesis** was true, **sampling variation** would produce an estimate that is **at least as far away** from the **hypothesised value** than our **data estimate**.

6. The *P-value* measures the strength of evidence against the null hypothesis.

7.

<i>P-value</i>	Evidence against H_0
> 0.12	none
≈ 0.10	weak
≈ 0.05	some
≈ 0.01	strong
< 0.01	very strong

8. Nothing.

9. A confidence interval.

10. One possible value for the parameter, called the hypothesised value, is tested. The test determines the strength of evidence provided by the data against the proposition that the hypothesised value is the true value.

11. If the *P-value* is less than or equal to a specified value (usually 5% or 1%), the effect that was tested is said to be significant at that specified level (usually 5% or 1%). Therefore a significant test reveals that there is sufficient evidence against the null hypothesis.

Section B:

1. (a) Let p_W be the true proportion of white prisoners who were infected with TB and p_G be the true proportion of Gypsy prisoners who were infected with TB. Thus $\theta = p_W - p_G$.
- (b) $H_0: p_W - p_G = 0$ vs $H_1: p_W - p_G \neq 0$
- (c) $\hat{p}_W - \hat{p}_G = \frac{496}{886} - \frac{74}{152} = 0.5598 - 0.4868 = 0.0730$
- (d) $se(\hat{p}_W - \hat{p}_G) = \sqrt{\frac{0.5598(1-0.5598)}{886} + \frac{0.4868(1-0.4868)}{152}} = 0.04384$
 $z_0 = \frac{0.0730 - 0}{0.04384} = 1.665$
- (e) $P\text{-value} = 2 \times \text{pr}(Z > 1.665)$
 = between 0.05 and 0.1 (in fact it is just less than 0.1)
- (f) We have weak evidence against H_0 .
- (g) There is weak evidence that there is a difference between the proportion of White prisoners who had TB and the proportion of Gypsy prisoners who had TB.
- (h) 95% confidence interval for $p_W - p_G$:
 $0.0730 \pm 1.96 \times 0.04384 = (-0.013, 0.159)$
- (i) With 95% confidence, we estimate that the proportion of White prisoners who had TB is somewhere between 1.3% lower than and 15.9% higher than the proportion of Gypsy prisoners who had TB.
2. (a) p , the population proportion (ie the proportion of residents of New York City who would have said that they would move somewhere else).
- (b) $H_0: p = 0.5$ vs $H_1: p \neq 0.5$
- (c) $\hat{p} = \frac{595}{1009} = 0.589693$
- (d) $z_0 = 5.70$ $P\text{-value} = 0.000$
- (e) There is very strong evidence that the true proportion of New York City residents who would have said that they would move somewhere else is greater than 50%.
- (f) We estimate that the proportion of New York City residents who would have said that they would move somewhere else is somewhere between 55.9% and 62.0%. A statement such as this is correct, on average, 19 out of every 20 times such a sample is taken.

3. (a) Let μ_1 be the true mean daily revenue for laundry 1 and μ_2 be the true mean daily revenue for laundry 2. Thus the parameter used is $\mu_1 - \mu_2$, the difference in the mean daily revenue for the two laundries.
- (b) $H_0: \mu_1 - \mu_2 = 0$ vs $H_1: \mu_1 - \mu_2 \neq 0$
- (c) $\bar{x}_1 - \bar{x}_2 = 635.4 - 601.6 = 33.8$
- (d) $t_0 = 1.94$
- (e) $P\text{-value} = 0.057$. We have some evidence that the mean daily revenue of the first laundry is greater than the mean daily revenue of the second laundry.
- (f) With 95% confidence, we estimate that the mean daily revenue of the first laundry is somewhere between \$1 less than and \$69 more than the mean daily revenue of the second laundry.
- (g) There are no reasons for doubting the validity of the results of this analysis because neither stem-and-leaf plot shows any non-Normal features.
- (h) The computer uses a different formula for calculating df . This formula gives a larger value of df than the hand calculation based on the minimum of one less than each sample size.

Section C:

1. (1)
2. (1)
3. (4)